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Instructions to Candidates

Read the following instructions carefully before you answer the questions. Answers are to be SHADED on

a SEPARATE OMR Answer sheet given, with a HB pencil. Read the Instructions printed on the OMR

sheet carefully before answering the questions.

1. Please write your Roll No. very clearly (only one digit in one block) on the OMR Answer sheet as
given in your admission card. Please see that no block is left unfilled and even Zeros are correctly
transferred to the appropriate blocks on the OMR Answer sheet. For all the subsequent purposes,
your Centre Code No. and other details shall remain the same as given on the Admission Card.

2. Paper-ll (Scholastic Aptitude Test) consists of 100 questions (Q. Nos. 1 to 100).

3. All questions carry one mark each.

4. Sinceall questions are compulsory, do not try to read through the whole question paper before
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Do not separate or displace them. Do not darken the bubbles in two copies of OMR Answer sheets
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Note :

(i)

(ii)

PAPER — I

SCHOLASTIC APTITUDE TEST
(Q. Nos. 1 to 100)
Max. Marks : 100

Subjects, Total Questions of each subject and Marks allotted :-

e Physics 13 Questions
e Chemistry 13 Questions
e Biology 14 Questions
e Mathematics 20 Questions
e History 12 Questions
e Geography 12 Questions
e Political Science 08 Questions
e Economics 08 Questions

SHADE the correct alternatives in the OMR Answer Sheet provided, from
amongst the ones given against the corresponding questions in the

13 Marks
13 Marks
14 Marks
20 Marks
12 Marks
12 Marks
08 Marks
08 Marks

Question Booklet. For shading the circles, use a HB pencil.
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